
HEITEC ELECTRONIC PACKAGING SYSTEMS 203

COMPONENTS AND ACCESSORIES
ASSEMBLY PARTS

Assembly parts

For the attachment of Description Dimensions Order No. Packs of

Fans to fan mounting plate

Mounting kit for fans:

Flat csk-screw
ISO 7046-1-4.8-Z-A2K

Hex nut
ISO 4032-8

Serrated washer
DIN 6798-A-Fst-A2K

M4 x 12

M4

4.3

3685.197 1 set

Covers to side panels

Mounting kit for covers:

Mounting block

Flat csk-screw
ISO 7046-1-4.8-Z-A2K M3 x 6           

3685.256 24 sets

PCB holders (die-cast) to front panels, top Oval csk-screw
DIN ISO 7047-4.8-Z-A2K

M2.5 x 8              3685.282 100

- Covers box-type plug-in units type I/II
- Contact/spring sections for 3-part front panels

Flat csk-screw
ISO 7046-1-4.8-Z-A2K

M2.5 x 5              3685.289 100

- Handles on front panels for box type plug-in units
- Front panels to hinge strip

Flat csk-screw
ISO 7046-1-4.8-Z-A2K

M2.5 x 6              3685.290 100

Holder (horizontal assembly kit) to horizontal rail Flat csk-screw similar to
DIN ISO 7046-1-4.8-Z-A2K

M2.5 x 5              3686.916 100

Holder (horizontal assembly kit) to horizontal rail Flat csk-screw similar to
DIN ISO 7046-1-4.8-Z-A2K

M2.5 x 8              3686.917 100

Contact and spring sections on 3-part front panels 
without countersink

Panhead posidrive screw
DIN ISO 7046-4.8-Z-A2K

M2.5 x 5              3686.924 100

Set back flanges to side panels

Mounting kit for set back flanges:

Panhead self-locking screw
similar to DIN ISO 7045-8.8-Z-A2K

Hex nut
ISO 4032-8

Washer

M4 x 8

M4

4.3

3687.015 4 sets

Fastening the threaded inserts in horizontal rails Grub screw
ISO 7434-14H

M2.5 x 8         3687.020 100

- EMC front panels to horizontal rails
- EMC trim frame to conceal the front sections of the
  horizontal mounting kit

Centering screw, slotted M2.5 x 11       3687.050 100

EMC front panels to horizontal rails Centering screw, posidrive M2.5 x 11       3687.051 100

EMC front panels to horizontal rails Centering screw,
hex screws

M2.5 x 11       3688.709 100

Subracks into racks
Panhead screw, posidrive 
ISO ISO7045-M6x16-4.8-Z-A2K
Washer plastic M6

M6 x 16
           

2089.000 100

Subracks into racks
Panhead screw, Torx drive 
ISO 14583 M6x16-4.8-A2K
Washer plastic M6

M6 x 16
           

7094.600 100

Subracks at the profiles of racks Cage nut M6 0,8-2,0
with electrical contact M6

                          
2094.200 50

Subracks at the profiles of racks Cage nut M6 0,8-2,0
without electrical contact M6

                          
2092.200 50

Front panels and rear panels to horizontal rails Collar screw, cheese-head, slotted M2.5 x 11       3685.097 100

Type V/VI handles (aluminium) to front panels

Mounting kit for type V/VI handles:

Panhead posidrive screw
ISO 7045-4.8-Z-A2K

Bracket

Square nut
DIN 562-11H-A2K

M2.5 x 6

M2.5

3687.146 1 set


